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Geometry Review 5.1-5.4 Name per
i 1 Find the value of x.
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v Solve for x.

=» Use the diagram to the right and the following information...
LK=12x—-16 cm, NM=3x+1, MK=5x—-7,NO =2y, m<L=>52° m<K=46°
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7) Solve for x.
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5.3 Use a compass to construct and label the following; LABEL diagrams with appropriate congruent markings and/or
perpendiculor markings. :

8) perpendicular bisectors of the triangle ~ thefi‘u,se thé compass'to dfaw the CIRCUMSCRIBED circle of ABC

10. When the 3 bisectors all intersect at one point, that point is called a point of C,@V\w”\muﬁ_h
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Use the diagram to the right...

14) Name a perpendicufar bisector @% l VS

15) Name an angle bisector (;J O o TA




16} To find the point that is equidistant from the 3 vertices of the triangle, you would find the point where the 3

P}f Pmoti'(,ev{ff bisectors intersect.

Is AB a median, an altitude, a perpendicular hisector, angie bisector or none of these? How do you know?
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Which diagram shows a point P an equat distance from points 4, 8, and C?
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21} In each diagram, the segments drawn are MEDIANS of the triangle.

a) fGE=3x+5andGl=2x-1 b) Qv =32x—-12,and RV =21x+ 10
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22} Explain the similarities and differences between an triangle’s altitude and median.
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Kuta Software - Infinite Geometry

_ Midsegment of a Triangle
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n each triangle, M, N, and P are the midpoints of the sides. Name a segment parallel to the one given.
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Find the missing length indicated.
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Solve for x,
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Find the missing length indicated.
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actice using MEDIANS and ANGLE BISECTORS of TRIANGLES  Name /H\/ S/ Z/CS
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Each figure shows a triangle with one or more of its medians,
1) Find FEif TE=8 2y FindGFif TF=6.3
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3) KFind Liif{I=6 4) Find NMif EM =10
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1) Find xif GE=3x+5and IE=x+6 12) Find xif TP =2x+ tand TQ = 3x— 5
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Each figure shows a triangle with one of its angle bisectors,

[13) Find xifms2 =4x+ 5 and 14y Find xif ms2 =1+ 28x and (

mel=5x—72. msXVW =59y — 1,
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15 mzi=Tx+7 and m2VTU = 163+ 4. 16) Find m-2if mzs2=7x+ 5 and
Find m21. mzsl=9x -5,

\\P(/ 2 (,%”jﬂ - /(ﬁ\f""(/_

<=y IN e ey )
Cia’ﬁ' / () o &X C

U
X<

17} use a compass and straightedge for the following. if you don’t have one, then just sketch and mark your diagram
appropriately to show how you found the point that is equidistant from all of the schools.

Warde, Ludlowe, and Staples are playing in
a tournament. The one requirement is that
the tournament must be at a site that is
equidistant from all schools. find the point on
the map in which the event should be held.

Show all work! Use the black dots as the school locations...




